Paper 1 - Examination Style Questions
How far…? – 10 marks
Use the questions below as part of your revision.  Think about the information you would use/need to answer these questions.
Remember to think about what the mark scheme requires you to do.  
MARK SCHEME – 10 mark questions
	Level 1
	Simple comment OR one reason
	1-2 mark

	Level 2 
	Gives a detailed description of one of the bullet points (3 marks); Explains one of the bullet points (4 marks); Assesses one of the bullet points (5 marks)
OR
Describes both bullet points and includes some explanation but no assessment.  If the descriptions are very detailed then this answer goes in to level 3
	3-6 marks

	Level 3
	Attempts to describe explain and assess both bullet points but one is in greater depth than the other.
	7-9 marks

	Level 4
	Balanced answer that explains and assesses both bullet points and makes a reasoned judgement
	10

















Origins of the First World War
a) Which was the more important reason for Britain joining the war against Germany in
1914:
 the Entente Cordiale, 1904
 the use of the Schlieffen Plan in 1914?
You must refer to both reasons when explaining your answer. (10 marks)
	
	a)
	b)

	Describe (say what it was)
	
	

	Explain (say why they countries/people did what they did)
	
	

	Assess (How did this lead what the question is asking
	
	

	Judgement (Which one is more important?  WHY?)
	



b) Which of these two bullet points had the greater effect on the development of the
alliance system in Europe:
! the Moroccan Crises, 1905.1911
! the Bosnian Crisis, 1908.1909?
You must refer to both bullet points when explaining your answer. (10 marks)

	
	a)
	b)

	Describe (say what it was)
	
	

	Explain (say why they countries/people did what they did)
	
	

	Assess (How did this lead what the question is asking
	
	

	Judgement (Which one is more important?  WHY?)
	







Which of these reasons was more responsible for the outbreak of the First World War in
1914:
 the alliance systems that existed in 1914
 the use of the Schlieffen Plan in 1914?
You must refer to both reasons when explaining your answer. (10 marks)

	
	a)
	b)

	Describe (say what it was)
	
	

	Explain (say why they countries/people did what they did)
	
	

	Assess (How did this lead what the question is asking
	
	

	Judgement (Which one is more important?  WHY?)
	




Peacekeeping 1918-19 and the League of Nations 

a) Which part of the Treaty of Versailles made the German people more angry:
 the land taken from Germany
 reparations?
You must refer to both parts when explaining your answer. (10 marks)

	
	a)
	b)

	Describe (say what it was)
	
	

	Explain (say why they countries/people did what they did)
	
	

	Assess (How did this lead what the question is asking
	
	

	Judgement (Which one is more important?  WHY?)
	




b) Which of the following was the more important reason for the failure of the League of
Nations:
! the membership of the League, 1919.1939
! the Manchurian Crisis, 1931.1933?
You must refer to both reasons when explaining your answer. (10 marks)

	
	a)
	b)

	Describe (say what it was)
	
	

	Explain (say why they countries/people did what they did)
	
	

	Assess (How did this lead what the question is asking
	
	

	Judgement (Which one is more important?  WHY?)
	






c) Which of the following reasons was more responsible for the failure of the League of
Nations:
 the absence of the USA from the League
 the actions of Britain and France during the Abyssinian Crisis, 1935–1936?
You must refer to both reasons when explaining your answer. (10 marks)

	
	a)
	b)

	Describe (say what it was)
	
	

	Explain (say why they countries/people did what they did)
	
	

	Assess (How did this lead what the question is asking
	
	

	Judgement (Which one is more important?  WHY?)
	





Hitler’s Foreign Policy and the Origins of the Second World War


a) Which of these two events was the greater success for Hitler in his foreign policy:
 the remilitarisation of the Rhineland, 1936
 the Anschluss with Austria, 1938?
You must refer to both events when explaining your answer. (10 marks)

	
	a)
	b)

	Describe (say what it was)
	
	

	Explain (say why they countries/people did what they did)
	
	

	Assess (How did this lead what the question is asking
	
	

	Judgement (Which one is more important?  WHY?)
	




b) Which of these two reasons was the more important reason for the outbreak of the
Second World War:
! Hitler.s occupation of Czechoslovakia, March 1939
! the Nazi-Soviet Pact, 1939?
You must refer to both reasons when explaining your answer. (10 marks)

	
	a)
	b)

	Describe (say what it was)
	
	

	Explain (say why they countries/people did what they did)
	
	

	Assess (How did this lead what the question is asking
	
	

	Judgement (Which one is more important?  WHY?)
	





c) Which was more important as a cause of the Second World War:
 Hitler’s aims in foreign policy
 Neville Chamberlain’s policy of appeasement, 1938–1939?
You must refer to both causes when explaining your answer. (10 marks)

	
	a)
	b)

	Describe (say what it was)
	
	

	Explain (say why they countries/people did what they did)
	
	

	Assess (How did this lead what the question is asking
	
	

	Judgement (Which one is more important?  WHY?)
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